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M. A. Travel and Tourism
Entrance Examination (2024)

Department of Geography
Subject Code : 97870

..........................................................................................................................................................

Day and Date : Friday, 28-06-2024 Total Marks : 50
Time : 12.30 p.m. to 02.00 p.m.
......................................................................................................................................................

Instructions :

1) All questions are compulsory.
2) Each question carries 1 mark.
3) Answers should be marked in the given OMR answer sheet by darkening

the appropriate option.
4) Follow the instructions given on OMR sheet.

5) Rough work shall be done on the sheet provided at the end of question
paper.

...............................................................................................................................................

Seat
No.

1. Suppose a series is 6, 11, 21, 36, 56, ? the number comes at the place of

question mark in the given series is -

a. 91 b. 21

c. 52 d. 81

g‘Om am§JoV 6, 11, 21, 56, ? Amho. {Xboë¶m am§JoVrb àíZ {MÝhmÀ¶m OmJr ¶oUmar g§»¶m åhUOo -

a.  91 b. 21

c. 52 d. 81



ENT - 53

2

2. If PINK is coded as 1691411, then RED will be coded as -

a. 1963 b. 1854

c. 1853 d. 1954

Oa PINK bm 1691411 Ago H$moS> Ho$bo Agob, Va RED bm Ago H$moS> Ho$bo OmB©b -

a 1963 b  1854

c 1853 d 1954

3. Statement 1: Ram runs faster than Rohan

Statement 2: Varun runs faster than Ram

Statement 3: Rohan runs faster than Varun

If statement 1 and statement 2 are true, statement 3 will be -

a. true b. false

c. uncertain d. None of the above

{dYmZ 1  : am‘ amohZnojm doJmZo YmdVmo

{dYmZ 2  : déU am‘mnojm doJmZo YmdVmo

{dYmZ 3  : amohZ déUnojm doJmZo YmdVmo

{dYmZ 1 Am{U {dYmZ 2 gË¶ Agë¶mg, {dYmZ 3 Agob -

a Iao b ImoQ>o

c. A{ZpíMV d darbn¡H$s H$mhrhr Zmhr
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4. Were you a bird, you in the sky.

a) would fly b) shall fly

c) should fly d) shall have flown

5. Catching the earlier train will give us the...... to do some shopping.

a. chance b. luck

c. possibility d. occasion

AmYrMr Q´>oZ nH$S>ë¶mZo Amåhmbm H$mhr IaoXr H$aÊ¶mMr ............... {‘iob.

a g§Yr b Zer~

c e³¶Vm d àg§J

6. The grapes are now...... enough to be picked.

a. ready b. mature

c. ripe d. advanced

7. Success in this examination depends hard work alone.

a. at b. over

c. for d. on

8. My uncle decided to take and my sister to the market.

a. I b. mine

c. me d. myself
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9. S
1
: When a satellite is launched, the rocket begins by going slowly upwards

through the air.

P : However, the higher it goes, the less air it meets.

Q : As the rocket goes higher, it travels faster.

 R: For the atmosphere becomes thinner.

S: As a result there is less friction.

S
6
: Consequently, the rocket still does not become too hot.

The Proper sequence should be:

a. QPRS b. QSPR

c. PQRS d. PQSR

S
1
: Ooìhm EImXm CnJ«h àjo{nV Ho$bm OmVmo, Voìhm am°Ho$Q> hiyhiy daÀ¶m {XeoZo OmÊ¶mg gwédmV H$aVo.

P: VWm{n Vo {OVHo$ da OmVo {VVH$s H$‘r hdm {‘iVo.

Q: am°Ho$Q> OgOgo da OmVo VgoVgo Vo doJmZo àdmg H$aVo

R: H$maU dmVmdaU {dai hmoVo.

S: n[aUm‘r Kf©U H$‘r hmoVo

S
6
: n[aUm‘r, am°Ho$Q> AOyZhr OmñV Ja‘ hmoV Zmhr.

a)  QPRS b)  QSPR

c)  PQRS d) PQSR

10. Find the correctly spelt words.

a. Foreign b. Foreine

c. Fariegn d. Forein



ENT - 53

5

11. Find the correctly spelt words.

a. Acommodation b. Accomodaton

c. Accommodation d. Acomodation

12. Which of phrases given below each sentence should replace the phrase

printed. in bold type to make the grammatically correct?

Why should the candidates be afraid of English Language is not clear.

a. the candidates should be

b. do the candidates be

c. should be the candidates

d. are the candidates

13. A person crosses a 600 m long street in 5 minutes. What is his speed in km

per hour?

a. 3.6 b. 7.2

c. 8.4 d. 10

$EH$ ì¶³Vr 600 ‘rQ>a bm§~rMm añVm 5 {‘{ZQ>m§V nma H$aVmo. Vmer {H$‘r ‘Ü¶o Ë¶mMm doJ {H$Vr

Amho?

a) $3.6 b) $7.2

c) $8.4 d) $10
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14. Excluding stoppages, the speed of a bus is 54 kmph and including stoppages,

it is 45 kmph. For how many minutes does the bus stop per hour?

a. 9 b. 10

c. 12 d. 20

Wm§~o dJiVm, ~gMm doJ 54 {H$‘r à{V Vmg Amho Am{U Wm§ã¶m§gh, Vmo 45 {H$‘r à{V Vmg Amho.

~g Xa Vmgmbm {H$Vr {‘{ZQ>o Wm§~Vo?

a) $9 b) $10

c) 12 d) $20

15. Robert is travelling on his cycle and has calculated to reach point A at 2 P.M.

if he travels at 10 kmph, he will reach there at 12 noon if he travels at 15

kmph. At what speed must he travel to reach A at 1 P.M.?

a. 8 kmph b. 11 kmph

c. 12 kmph d. 14 kmph

am°~Q>© Ë¶mÀ¶m gm¶H$bdéZ àdmg H$aV Amho Am{U Ë¶mZo Oa 10 {H$‘r à{VVmg doJmZo àdmg Ho$bm,

Va Xþnmar 2 Mr q~Xÿ "E' da nmohmoMÊ¶mMr doi R>adbr Amho. 15 {H$‘r à{VVmg doJmZo àdmg

Ho$ë¶mg Vmo Xþnmar 12 dmOVm VoWo nmohmoMob. Xþnmar 1 dmOVm "E' bm nmohmoMÊ¶mgmR>r Ë¶mZo {H$Vr

doJmZo àdmg Ho$bm nm{hOo?

a) $8 {H$‘r Vmer b) $11 {H$‘r Vmer

c) $12 {H$‘r Vmer d) $14 {H$‘r Vmer
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16. ELFA, GLHA, ILJA, ....................MLNA

a. OLPA b. KLMA

c. LLMA d. KLLA

17. A is 3 years older to B and 3 years younger to C, while B and D are twins. w

many years older is C to D?

a. 2 b. 3

c. 6 d. 12

A ho B nojm 3 df} ‘moR>o Am{U  C nojm bhmZ Amho, B Am{U D Owir ‘wbo AmhoV. C ho  D nojm§

{H$Vr dfmªZr ‘moR>o Amho?

a) 2 b) 3

c) 6 d) 12

18. Choose the figure which is different from the rest.

~mH$sÀ¶m§nojm doJir Agbobr AmH¥$Vr {ZdS>m.

           (1)                (2)               (3)              (4)               (5)

a. 1 b. 2

c. 3 d. 4
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19. Which airport has become the world's first airport to completely operate on

solar power?

a) Amritsar international Airport

b) Sardar Vallabhbhai Patel International

c) Kochi Airport

d) Hyderabad International Airport

H$moUVo {d‘mZVi nyU©nUo OJmVrb n{hbo gm¡a D$O}da MmbUmao {d‘mZVi ~Zbo Amho?

a) A‘¥Vga Am§Vaamï´>r¶ {d‘mZVi

b) gaXma dëb^^mB© nQ>ob Am§Vaamï´>r¶

c) H$moMr {d‘mZVi

d) h¡Ðm~mX Am§Vaamï´>r¶ {d‘mZVi

20. The famous crater lake in Maharashtra is at

A) Lonar B) Lonavala

C) Verul D) Matheran

‘hmamï´>mVrb à{gÕ {dda Vbmd ¶oWo Amho.

a) $bmoUma b) $bmoUmdim

c) $doéi d) $‘mWoamZ
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21. Off point is also known as

a) Arrival point b) Board point

c) Departure point d) Origin point

............. Off point åhUyZ XoIrb AmoiIbo OmVoo

a) $AmJ‘Z q~Xÿ b) $~moS>© nm°BªQ>

c) {ZJ©‘Z q~Xÿ d) $‘yi q~Xÿ

22. The Wright Brothers Invented the Aero Plane in.

b)1903 a)1927

c) 1873 d) 1829

amB©Q> ~Xg©Zo {d‘mZmMm emoY ...........‘Ü¶o bmdbm.

a) $1903 b) $1927

c) 1873 d) $1829

23 . Who is known as the Father of the Travel Agency Business?

a) Thomas Cook b)Jeena and Co.

c) Lee and Muirhead d) Cox and kings

Q´>°ìhb EOÝgr ì¶dgm¶mMo OZH$ åhUyZ H$moUmbm AmoiIbo OmVo?

a) $Wm°‘g Hw$H$ b) $OrZm Am{U H§$.

c) br Am{U ‘w¶ahoS> d) $H$m°³g Am{U qH$½g
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24. Asia's largest rail network is ..................

a) China b) Korea

c) Pakistan d) india

Am{e¶mVrb gdm©V ‘moR>o aoëdo ZoQ>dH©$ ...................... Amho.

a) $MrZ b) $H$mo[a¶m

c) nm{H$ñVmZ d) $^maV

25. The Bandipur national park is located in the state

a) Andhra Pradesh b) Karnataka

c) Tamil Nadu d) Kerala

~m§Xrnya amï´>r¶ CÚmZ................ amÁ¶mV pñWV Amho.

a) $Am§Y« àXoe b) $H$Zm©Q>H$

c) Vm{‘iZmSy> d) $Ho$ai

26. Which one of the following is not a Himalayan River?

a) The Ganges b) Cauvery

c) Sutlej d) Beas

Imbrbn¡H$s H$moUVr ZXr {h‘mb¶rZ ZXr Zmhr?

a) $J§Jm b) $H$mdoar

c) gVbO d) ${~¶mg
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27. Which state is called the cradle of Buddhism?

a) Sikkim b) Bihar

c) Uttar Pradesh d) Madhya Pradesh

H$moUË¶m amÁ¶mbm ~m¡Õ Y‘m©Mm nmiUm åhUVmV.

a) ${g³H$r‘ b) ${~hma

c) CÎma àXoe d) $‘Ü¶ àXoe

28. The Konark temple in Orissa is dedicated to

a) Lord Indra b) Lord Rama

c) The Sun God d) None of these

Amo[agmVrb H$moUmH©$ ‘§{Xa H$moUË¶m Xodmbm g‘{n©V Amho.

a) $^JdmZ B§Ð b) $^JdmZ am‘

c) gw¶© Xod d) $¶mn¡H$s Zmhr

29. Navy blue colour passport depicts

a) Ordinary passport b) Official passport

c) Diplomatic passport d) Alien's passport

Zoìhr ãby H$ba nmgnmoQ>© Imbrb n¡H$s H$moUVm nmgnmoQ>© Amho.

a) gm‘mÝ¶ nmgnmoQ>© b) $A{YH¥$V nmgnmoQ>©

c) {S>ßbmo‘°{Q>H$ nmgnmoQ>© d) $E{b¶ZMm nmgnmoQ>©
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30. Tata Airways was renamed as ................

a) Tata Air b) Indian Airlines

c) Air Asia d) Air India

Q>mQ>m EAadoOMo Zmd .............. ho ~XbÊ¶mV Ambo.

a) Q>mQ>m EAa b) $B§{S>¶Z EAabmB©Ýg

c) EAa E{e¶m d) $EAa B§{S>¶m

31. Bhilar is known as the 'Village of

a) books b) plants

c) mangoes d) forts

{^bma ho "................  Jmd' åhUyZ AmoiIbo OmVo.

a) nwñVHo$ b) $PmS>o

c) Am§~m d) ${H$ëbo

32. Haridwar is idle place for undertaking

a) Spiritual/Religious Tours b) Historical Tours

c) Eco Tours d) Farms Tours

h[aX²dma ho n¶©Q>Z ñWi ............... ¶mgmR>r AmoiIbo OmVo.

a) AÜ¶mpË‘H$/Ym{‘©H$ Qy>b b) $Eo{Vhm{gH$ Q>ya

c) BH$mo Qy>a d) $’$m‘© Qy>a
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33. The state in India with the largest Coastline is .............

a) Tamil Nadu b) Kerala

c) Gujarat d) Maharashtra

^maVmVrb gdm©V ‘moR>r {H$ZmanÅ>r Agbobo amÁ¶ ............... Amho.

a) Vm{‘iZmSy> b) Ho$ai

c) JwOamV d) $‘hmamï´>

34. Famous Hindu place of pilgrimage Amarnath is in ..............

a) Uttar Pradesh b) Madhya Pradesh

c) Kashmir d) Andhra Pradesh

à{gÕ qhXÿ VrW©joÌ A‘aZmW ho ................ ¶oWo Amho.

a) CÎma àXoe b) ‘Ü¶ àXoe

c) H$mí‘ra d) $Am§Y« àXoe

35. Bharathanatyam dance from originated in

a) Andhra Pradesh b) Tamil Nadu

c) Kerala d) Orissa

^aVZmQ²>¶‘ Z¥Ë¶mMr CËnÎmr ............... ¶oWo Pmbr.

a) Am§Y« àXoe b) Vm{‘iZmSy>

c) Ho$ai d) $Amo[agm
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36. Ellora caves situated in ..............

a) Aurangabad (Sambhajinagar) b) Agra

c) Pune d) Ahmednagar

Ebmoam boUr ................ ¶oWo dgboë¶m AmhoV.

a) Am¡a§Jm~mX (g§^mOrZJa) b) AmJ«m

c) nwUo d) $Ah‘XZJa

37. Khajuraho Temple are situated in ..............

a) Madhya Pradesh b) Orissa

c) Punjab d) Agra

IOwamhmo ‘§{Xa ............ ¶oWo dgbobo Amho.

a) ‘Ü¶ àXoe b) Amo[agm

c) n§Om~ d) $AmJ«m

38. Vivekananda memorial located in ..............

a) Kollam b) Kottayam

c) Wayanad d) Kanyakumari

{ddoH$mZ§X ñ‘maH$ ............... ¶oWo pñWV Amho.

a) H$moëb‘ b) H$moQ²>Q>m¶‘

c) dm¶ZmS> d) $H$Ý¶mHw$‘mar
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39. Kaziranga national park situated in ............

a) Rajasthan b) Assam

c) Uttaranchal d) Orissa

H$mPra§Jm amï´>r¶ CÚmZ ........ ¶oWo dgbobo Amho.

a) amOñWmZ b) Amgm‘

c) CÎmam§Mb d) $Amo[agm

40. Lotus temple is situated in ............

a) Delhi b) Agra

c) Kerala d) Bengal

H$‘i ‘§{Xa ............... ‘Ü¶o dgbobo Amho.

a) {Xëbr b) AmJ«m

c) Ho$ai d) $~§Jmb

41. Travelling to attend sports events comes under

A) agro-tourism B) sports tourism

C) cultural tourism D) health tourism

H«$sS>m ñnYmª‘Ü¶o gh^mJr hmoÊ¶mgmR>r àdmg H$aUo ........... A§VJ©V ¶oVo

a) H¥$fr n¶©Q>Z b) H«$sS>m n¶©Q>Z

c) gm§ñH¥${VH$ n¶©Q>Z d) $Amamo½¶ n¶©Q>Z
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42. Where are the headquarters of India Tourism Development Corporation

(ITDC)?

a) New Delhi b) Jaipur

c) Surat d) Raipur

^maVr¶ n¶©Q>Z {dH$mg ‘hm‘§S>i (ITDC) Mo ‘w»¶mb¶ H$moR>o Amho?

a) Zdr {Xëbr b) O¶nya

c) gyaV d) $am¶nya

43. When a visitor travels in his country of residence, he is a visitor

a) Domestic b) International

c) Inbound d) Out bound

Ooìhm EImXm nmhþUm ¶mÀ¶m amhË¶m XoemV àdmg H$aVmo Voìhm Vmo.......... nmhþUm AgVmo

a) Xoem§VJ©V b) Am§Vaamï´>r¶

c) BZ~mC§S> d) $AmD$Q> ~mD§$S>

44. Which of the following is not a major component of tourism.

a) Transport b) Accommodation

c) Tour operators d) Shops

Imbrbn¡H$s H$moUVm n¶©Q>ZmMm à‘wI KQ>H$ Zmhr.

a) dmhVyH$ b) {Zdmg

c) Qy>a Am°naoQ>a d) $XþH$mZ
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45. Qutub minar is located in .................

a) Delhi b) Mumbai

c) Calcutta d) Chennai

Hw$Vw~{‘Zma .......... ¶oWo Amho.

a)  {Xëbr b) ‘w§~B©

c) H$bH$Îmm d) $MoÝZB©

46. Golden Temple is located in ..............

a) Amritsar b) Chandigarh

c) Ahmedabad d) Chennai

gwdU© ‘§{Xa  ............. ¶oWo Amho.

a) A‘¥Vga b) M§XrJS>

c) Ah‘Xm~mX d) $MoÝZB©

47. Profit = Total income - .........................

a) Total cost b) Total fixed cost

c) Total profit d) None of these.

Z’$m = EHy$U CËnÝZ - ..................

a) EHy$U IM© b) EHy$U {ZpíMV qH$‘V

c) EHy$U Z’$m d) $¶mn¡H$s H$mhrhr Zmhr
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48. Eco tourism relates to .................

a) Economic system b) Financial system

c) Nature d) E-commerce

BH$mo Qw>[aP‘ ................ er g§~§{YV Amho.

a) Am{W©H$ Qw>[aP‘ b) Am{W©H$ ì¶dñWm

c) {ZgJ© d) $B©-H$m°‘g©

49. .................. is a part of tourism destination planning

a) Human Resource Planningb) Ecotourism

c) Public relations d) NGO policies

.............. ho n¶©Q>Z ñWi {Z¶moOZmMm EH$ ^mJ Amho.

a) ‘mZd g§emoYZ {Z¶moOZ b) n¶m©daU n¶©Q>Z

c) OZg§nH©$ d) $EZOrAmo YmoaUo

50. The forest in Sundarbans is also called?

a. Scrub jungle b. Mangrove

c. Deciduous forest d. None of these

gw§Xa~Z‘Yrb O§Jbmbm ........... Ago hr åhUVmV?

a) PmS>r O§Jb b) Ima’w$Q>r

c) nmZPS>r O§Jb d) $¶mn¡H$s H$mhrhr Zmhr

rrr
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